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EXERCISE 19(A)) 
1. Fill in the blanks 

O 5x+ 4X= 0 5+ 4 and 

() 12+ 18 2.. 0.2 and 12xy+ 18xy= 
7a+16b. 66 

xy+3xy2 
and (i) 7+16 =...2. 2n and 

(V) 1+3 ..k nenen 

and 7ab-4ab mee 

12x-5y A y 
35ab-16ba = 10.a.b 19 5 

() 7-4 

and 
(vi) 12-5 

and 
(vil) 35-16 =... 

and 

28ax-13ax = A2a.2-13al 

(vi) 28-13 
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Ex19 CA) R, Fullnthabtankr

)hdLm.a f A and- 5 
ALmo -Dx Ond-S -x 

ii)ThLALLO0 D and 3 
ALLm 4 8ah eod-3ab 

Ond the 
9 

LLThs ALLn b-15 Qnd-4 and theALo 
e 1 ond -Ay 5 Ay 

and 1S 8s 2o1Goc 

-+15 18 

E18 alk bo18 b4 
aodL ab 9ab+16bo 

- aod B5x 324 9yx 
A24pas 

w-A-65 G ndAoaGok Sa 

a ay 



Add 
y2 z and 

O 

uil&o a and 4b w)bagcd 2y 
a 19 

YGm b0ad 40 Ga, 9oand ob 
6a4bo 
Qa+9ab 

apAq.and a LA) 5ab ba and sb 
Ag q 

1q 
Sab Aba. 
Oob an b.ot b 

1 5D Ca Opa ond A0.px 
90p9 0 pq 
BOpqt0pt 

2y yOnd- 

-Sasy 
xDbb.oond h 3t)-a.C and 6c 

2+ )C-St) 
8 b 

5b,4b-ond-10b
6b 1Ab)tC-106) 
lb 



a 
AEualt C Su) Sab a.b 6ob 

5a5o-2o 2abb.ab 4e th 
2.ob aobBob 
.aua2ob 

Ju2h b-b Ab 
bAAb-2b-b 

a6b 3bh 
8bb 
b LoL2o12.o6o 

at 2-82-4x3a 

102 2x-42 
Ar 

Ju Eab 2ob-6ab ab 
Aab-Gab iab 
cb fob 

2Ab

w1Cab.c labc 
12aloc 4ob.c 

abc12.ab 
hob. 

Aab A.ob c 
ADab 

lo Sublract iha 
LsAeCo com.aba ND Sy 3xt 10y 

82-2 6yt1O ALtonola
SrSy10 

5xA Gy 3 Aoa, Gho 
Aab ba 

S.Evauutt

48b 8 b 
b 
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